Gl 1) HE P
ISR (B = 2R BIFR)

I = e &
(ZD—) #E BRI #
I A X &
R H ey ® H e
i B A5 TV RE B OV 5 1 P 125, 117 T8 BLR A B 197, 595
AL N 28, 575
IR I % Jr# 17, 936
TR MR 8, 636 VRVE TR AL 2 4, 549
FERE « S AKG 8, 636 e R 449
TRATFAE - £ < SEEE I
W5 MR AR Al E 2 42,022
Z DAt /I SEN=E ¢ 65, 098
R R A2 i 0 e R 31,885
(7S VTR B 1,078
SRR WRIBBR BT - Rty 6,003
Z Ot R ERAEE ¢
fif ST E MR E 22,768 Ree:ikety/ RS FOEE Y
Tt ek 3, 160 Z DA 0
fif SIE & Hy Tl Bh 5 RGR 4
R 19, 608 it FHBE 55 A 4
VNGRS il 2
Jik % fiax HE R
PR A Tt 3¢ 71,280 Z DAl
LSy 71, 280 R PR A EEE R 3, 136
S N 3, 136
Z DAt SEEIRE 3, 136
VRTB AR AR i it TLA 2, 686
JFE FEM) AL PR Jit 5 Fl 450
VAR VES B B Rk i % EERH RS T
VRV S A it 5% Teé
F a7k ISs
inAREEE - (R4 Z D 0
51 Jo
il Fl+
+Hh 8, 304 — R R F DN




(ZD—) #HE BRI S

12

7 H

27
Z DO

b RS
K3 R
TRVBRIUE
RVAZHD S
Tk

] JoE 5 1 4
e d O S
KEBERAHESE
BB MRS TS A B 4
Z DO

W« TR 3 4

A AR

EEOE bR
£

W PETEFAUN

Z ot
Hid 4 4
AT
A4
it
Z b
AE AL TELL
RS NG LEYN
HELBUE AT 4
Heif A4
AR IEHA G
< DAt
—HEEF D OBAR S

14, 129
283
283

1,741
269

1,472

73, 590

AN =
=

200, 731

o

200, 731




(3w 2)

(F ) BRI SRS

TP

I X
H : e H § St
] Je 32 4 358, 945 R BIR A B 27,293
FA MR 358, 945 UNES: ¢ 18, 490
TR iR T 4, 506
BRI R - PR A 4, 297
WL - TR S 4 65, 976 BN AR 659, 762
FA iR 65, 976 EHEFE A
UIN=Y/ T fiBh A4 659, 762
BREEM R - PR AR R R R (i 0
LCREEY/ (153 ELEE A
X A 0 B FEEANRS
HA % BRETHEAN - RN R B i 0
e EHE A
BREEHERR « IR AN M A A
JEA: fi Rk JEL A Jite E R A 2
INME 296, 800 VESE MR i 2
FA MR 296, 800 &4
TR R B4
BRI - PR Z Dl 0
JEA: fita 3% i Bh 3B <
TEZEM JeATHIE R
Z Ot ZRE T HE
BT oo E iR FeE A% BE AR A MR T 4 2 486, 739
< Dt 0 N 486, 739
FERIE 4 FANigx 343, 041
- EUAE DTN JLA 300, 525
FATHIE BB R Fl 42,516
EA JEE it 78, 494
2 dtin b OfE A JLA 74, 083
ZREHE A FlF 4,411
PRI BBl A e BRI R - PR 65, 204
TLAR 56, 925




(ZD ) "R BRI mR S

I 53
H : e # : et
— RS O 452, 073 F+ 8, 279
FEAR M 318, 609 A SRR 0
L ffi AR 72,904 LA
BREGEEAR - IR AR 60, 560 Fl
JE A= i TEZEM 0
(= To
&4 Fl
Bt Z DA 0
Z Ot JeA
Fl+
— R FE S OMEASE
= G 1,173,794 a A 1,173,794




